

COMMUNICATIONS

DE LA FACULTÉ DES SCIENCES
DE L'UNIVERSITÉ D'ANKARA

Série A₁: Mathématiques

TOME : 33

ANNÉE : 1984

On The Degree Of Approximation By Bernestein Type Operators

by

ANWAR HABIB, SARFARAZ UMAR AND HUZOOR H. KHAN

16

Faculté des Sciences de l'Université d'Ankara
Ankara, Turquie

Communications de la Faculté des Sciences de l'Université d'Ankara

Comité de Redaction de la Série A₁

H. Hacısalihođlu, C. Kart, M. Balcı

Secrétaire de Publication

Ö. Çakar

La Revue "Communications de la Faculté des Sciences de l'Université d'Ankara" est un organe de publication englobant toutes les disciplines scientifique représentées à la Faculté des Sciences de l'Université d'Ankara.

La Œuvre, jusqu'à 1975 à l'exception des tomes I, II, III était composé de trois séries

Série A: Mathématiques, Physique et Astronomie,

Série B: Chimie,

Série C: Sciences Naturelles.

A partir de 1975 la Revue comprend sept séries:

Série A₁: Mathématiques,

Série A₂: Physique,

Série A₃: Astronomie,

Série B: Chimie,

Série C₁: Géologie,

Série C₂: Botanique,

Série C₃: Zoologie.

A partir de 1983 les séries de C₂ Botanique et C₃ Zoologie on été réunies sous la seule série Biologie C et les numéros de Tome commencerons par le numéro 1.

En principe, la Revue est réservée aux mémoires originaux des membres de la Faculté des Sciences de l'Université d'Ankara. Elle accepte cependant, dans la mesure de la place disponible les communications des auteurs étrangers. Les langues Allemande, Anglaise et Française serint acceptées indifféremment. Tout article doit être accompagnés d'un resume.

Les article soumis pour publications doivent être remis en trois exemplaires dactylographiés et ne pas dépasser 25 pages des Communications, les dessins et figuers portes sur les feuilles séparées devant pouvoir être reproduits sans modifications.

Les auteurs reçoivent 25 extrais sans couverture.

l'Adresse : Dergi Yayın Sekreteri,

Ankara Üniversitesi,

Fen Fakültesi,

Beşevler—Ankara

TURQUIE

On The Degree Of Approximation By Bernstein Type Operators

ANWAR HABIB, SARFARAZ UMAR AND HUZOOR H. KHAN

Received March 23, 1983; Revised January 3, 1984; accepted January 30, 1983)

Dept. of Mathematics, Aligarh Muslim University, Aligarh 202001 INDIA

1. Introduction And Results:

If $f(x)$ is a function defined on $[0,1]$, the Bernstein polynomial $B_n(f; x)$ of $f(x)$ is

$$(1.1) \quad B_n(f; x) = \sum_{k=0}^n f\left(\frac{k}{n}\right) P_{n,k}(x), \quad \text{where}$$

$$(1.2) \quad P_{n,k}(x) = \binom{n}{k} x^k (1-x)^{n-k},$$

Schurer [5] introduced the operator

$$S_{n,r}: C\left[0, 1 + \frac{r}{n}\right] \rightarrow C[0,1], \text{ defined by}$$

$$(1.3) \quad S_{n,r}(f; x) = \sum_{k=0}^{n+r} f\left(\frac{k}{n}\right) P_{n,r,k}(x), \quad \text{where}$$

$$(1.4) \quad P_{n,r,k}(x) = \binom{n+r}{k} x^k (1-x)^{n+r-k}$$

and r is a non-negative integer. In case $r=0$, this reduces to the well known Bernstein operator (1.1).

A small modification of Bernstein polynomial $B_n(f; x)$ of $f(x)$ due to Kantorovič [4] makes it possible to approximate Lebesgue integrable function in the L_1 -norm by the modified polynomial

$$(1.5) \quad P_n(f; x) = (n+1) \sum_{k=0}^n \binom{(k+1)/(n+1)}{k/(n+1)} f(t) dt P_{n,k}(x)$$

where $P_{n,k}(x)$ is same as defined by (1.2).

Jenson [3] established the interesting generalization of binomial theorem as:

$$(1.6) \quad (x+y+n\alpha)^n = \sum_{k=0}^n \binom{n}{k} x(x+k\alpha)^{k-1} (y+(n-k)\alpha)^{n-k},$$

which on substituting $(n+r)$ for n , becomes

$$(1.7) \quad (x+y+(n+r)\alpha)^{n+r} = \sum_{k=0}^{n+r} \binom{n+r}{k} (x+k\alpha)^{k-1} (y+(n+r-k)\alpha)^{n+r-k}.$$

Substituting $y = (1-x)$, we obtain

$$(1.8) \quad 1 = \sum_{k=0}^{n+r} \frac{x(x+k\alpha)^{k-1} (1-x+(n+r-k)\alpha)^{n+r-k}}{(1+(n+r)\alpha)^{n+r}} \binom{n+r}{k}, \text{ and let}$$

$$(1.9) \quad P_{n+r,k}(x;\alpha) = \binom{n+r}{k} \frac{x(x+k\alpha)^{k-1} (1-x+(n+r-k)\alpha)^{n+r-k}}{(1+(n+r)\alpha)^{n+r}}$$

$$(1.10) \quad \sum_{k=0}^{n+r} P_{n+r,k}(x;\alpha) = 1$$

For the finite interval $\left[0, 1 + \frac{r}{n}\right]$, we modify the operator in

a manner similar to that done to Berns'tein's operator by Kantorovic [4] and define the operator

$$A_{n+r}: C \left[0, 1 + \frac{r}{n}\right] \rightarrow C [0, 1], \text{ by}$$

$$(1.11) \quad A_{n+r}^\alpha(f; x) = (n+r+1) \sum_{k=0}^{n+r} \binom{(k+1)/(k+r+1)}{k/(n+r+1)} f(t) dt P_{n+r,k}(x;\alpha)$$

where $P_{n+r,k}(x;\alpha)$ is the same as (1.9) and r is a non-negative integer. When $r=0$ and $\alpha=0$, it reduces to the well-known Kantorovic operator (1.5).

The functions

$$(1.12) \quad S(v, n+r, x, y) = \sum_k^{n+r} \binom{n+r}{k} (x+k\alpha)^{k+v-1} [y+(n+r-k)\alpha]^{n+r-k}$$

satisfy the reduction formula

$$(1.13) \quad S(v, n+r, x, y) = x S(v-1, n+r, x, y) + (n+r)\alpha S(v, n+r-1, x+\alpha, y)$$

and hence

$$(1.14) \quad x S(0, n+r, x, y) = (x+y+(n+r)\alpha)^{n+r}.$$

By repeated use of reduction formula (1.13) and using (1.14) we get

$$(1.15) \quad S(1, n+r, x, y) = \sum_{k=0}^{n+r} \binom{n+r}{k} k! \alpha^{n+r} (x+y+(n+r)\alpha)^{n+r-k}$$

and

$$(1.16) \quad S(2, n+r, x, y) = \sum_k^{n+r} (x+k\alpha) \binom{n+r}{k} k! \alpha^k S(1, n+r-k, x+k\alpha, y)$$

Replacing $k!$ by $\int_0^\infty t^k e^{-t} dt$ and using binomial theorem,

we obtain

$$(1.17) \quad S(1, n+r, x, y) = \int_0^\infty e^{-t} (x+y+(n+r)\alpha + t\alpha)^{n+r} dt$$

and

$$(1.18) \quad S(2, n+r, x, y) = \int_0^\infty e^{-t} dt \int_0^\infty e^{-s} ds \{ (x+y+(n+r)\alpha + t\alpha + s\alpha)^{n+r} + (n+\alpha)\alpha^2 (x+y+(n+r)\alpha + t\alpha + s\alpha)^{n+r-1} \}.$$

and also we have

$$(1.19) \quad S(1, n+r-1, x+\alpha, 1-x) = \int_0^\infty e^{-t} (1+(n+r)\alpha + t\alpha)^{n+r-1} dt.$$

$$(1.20) \quad S(1, n+r-2, x+\alpha, 1-x+\alpha) = \int_0^{\infty} e^{-t} (1 + (n+r)\alpha + t\alpha)^{n+r-2},$$

$$(1.21) \quad S(2, n+r-2, x+2\alpha, 1-x) = \int_0^{\infty} e^{-t} dt \int_0^{\infty} e^{-s} ds \{ (x+2\alpha) (1 + (n+r)\alpha + t\alpha + s\alpha)^{n-2} + (n+r-2) \alpha^2 s (1 + (n+r)\alpha + t\alpha + s\alpha)^{n-3} \},$$

$$(1.22) \quad S(2, n+r-3, x+2\alpha, 1-x+\alpha) = \int_0^{\infty} e^{-t} dt \int_0^{\infty} e^{-s} ds \{ (x+2\alpha) (1 + (n+r)\alpha + t\alpha + s\alpha)^{n-3} + (n+r-3) \alpha^2 s (1 + (n+r)\alpha + t\alpha + s\alpha)^{n-4} \}.$$

If the function $f(x)$ is defined on the interval $(0, b)$, $b > 0$, the Bernstein polynomial (1.1) for this interval is given by Choldovsky [2] as

$$(1.23) \quad B_n^f(x; b) = \sum_{k=0}^n f\left(\frac{bk}{n}\right) \binom{n}{k} \left(\frac{x}{b}\right)^k \left(1 - \frac{x}{b}\right)^{n-k}.$$

In analogy with above polynomials we set $y = x b^{-1}$ in the polynomial $A_{nr}^{\alpha}(\varphi, y)$ of the function $\varphi(y) = f(by)$, $0 \leq y \leq 1 + \frac{r}{n}$ to obtain the desired generation of the Bernstein polynomials in the following way:

$$(1.24) \quad A_{nr}^{\alpha}(f, x; b) = (n+r+1) \sum_{k=0}^{n+r} \binom{(k+1)/(n+r+1)}{k/(n+r+1)} f(tb) dt \quad P_{nr, k} \left(\frac{x}{b}; \alpha\right)$$

where

$$(1.25) \quad P_{nr, k} \left(\frac{x}{b}; \alpha\right) = \frac{\binom{n+r}{k} \left(\frac{x}{b} + k\alpha\right)^{k-1} \left(1 - \frac{x}{b} + (n+r+k)\alpha\right)^{n+r-k}}{(1 + (n+r)\alpha)^{n+r}}$$

and moreover

$$(1.26) \quad \sum_{k=0}^{n+r} P_{nr;k} \left(\frac{x}{b}; \alpha \right) = 1.$$

For a constant b , we do not obtain any thing essentially now, We shall assume here that $b = b_{nr}$ is a function of $(n+r)$, which increases to $+\infty$ with $(n+r)$, and $f(x)$ is defined in the infinite interval $0 \leq x < +\infty$. If we want to preserve the relation:

$$A_{nr}^{\alpha}(x; b) \longrightarrow f(x).$$

For reasonably general class of function f , we have to assumed that the

distance between two adjacent point $K \frac{b_{nr}}{n+r}$ tends to zero for

$(n+r) \longrightarrow +\infty$, that is, $b_{nr} = o(n+r)$.

Choldovsky [2] has proved the following theorems by assuming that $b = b_n$ is a function of n , which increases to $+\infty$ with n and $f(x)$ is defined in the infinite interval $0 \leq X < +\infty$.

Theorem (1.1): If $b_n = o(n)$ and the function $f(x)$ is bounded in $(0, +\infty)$, say $|f(x)| \leq M$, then $B_n(f, x) \longrightarrow f(x)$ at any point of continuity of the function f .

Theorem (1.2): If $b_n = o(n)$ and $M(b_n) e^{-\beta n/b_n} \longrightarrow 0$ for each $\beta > 0$, then $B_n(f; x) \longrightarrow f(x)$ holds at each point of continuity of the function. The aim of this paper is to generalize the above results of Chlodovsky [2] for our new generalized polynomial for Lebesgue integrable function. We prove the following:

Theorem (1.3): If $b_{nr} = o(n+r)$, and the function $f(x)$ is bounded Lebesgue integrable in $(0, +\infty)$ say $|f(x)| \leq M$, then for

$$\alpha = \alpha_{nr} = o\left(\frac{1}{n+r}\right),$$

$$A_{nr}^{\alpha}(f, x; b) \longrightarrow f(x)$$

at any point of continuity of the function f .

Theorem (1.4): If $b_{nr} = o(n+r)$ and $M(b_{nr}) e^{-\beta nr/b_{nr}} \longrightarrow 0$

for each $\beta > 0$, then for $\alpha = \alpha_{nr} = o\left(\frac{1}{n+r}\right)$,

$$A_{nr}^{\alpha}(f, x; b) \longrightarrow f(x)$$

at each point of continuity of integrable function f .

2. LEMMAS AND THEIR PROOFS

Lemma (2.1):
$$\sum_{k=0}^{n+r} k p_{nr,k}(x; \alpha) = o\left(\frac{(n+r)x}{1+\alpha}\right).$$

Lemma (2.2):
$$\sum_{k=0}^{n+r} K(k-1) p_{nr,k}(x; \alpha) = o\left(\frac{(n+r)(n+r-1)\alpha x}{1+\alpha}\right).$$

$$x \left\{ \frac{x+2\alpha}{(1+2\alpha)^2} + \frac{(n+r-2)\alpha^2}{(1+3\alpha)^3} \right\}.$$

Lemma (2.3): For all values of $x \in \left[0, 1 + \frac{r}{n}\right]$ and for $\alpha = \alpha_{nr}$

$= o\left(\frac{1}{n+r}\right)$, we have

$$(n+r+1) \sum_{k=0}^{n+r} \left(\int_{k/(n+r+1)}^{(k+1)/(n+r+1)} (t-x)^2 \cdot dt \right) p_{nr,k}(x; \alpha) \leq \frac{x(1-x)}{n+r}.$$

Lemma (2.4): For all values of $x \in \left[0, 1 + \frac{r}{b}\right]$ and for $\alpha = \alpha_{nr}$

$= o\left[\frac{1}{n+r}\right]$, the inequality

$$0 \leq z \leq \frac{3}{2} [(n+r) \times (1-x)]^{1/2}$$

implies

$$(n+r+1) \Sigma \left(\int_{k/(n+r+1)}^{(k+1)/(n+r+1)} dt \right) p_{n^r;k}(x;\alpha) \leq 2e^{-z^2}.$$

$$|t-x| > 2z \left(\frac{x(1-x)}{n+r} \right)^{1/2}$$

Proof of Lemma 2.1.: We have

$$\begin{aligned} \sum_{k=0}^{n+r} k p_{n^r;k}(x;\alpha) &= \sum_{k=0}^{n+r} k \binom{n+r}{k} \frac{x(x+k\alpha)^{k-1} (1-x+(n+r-k)\alpha)^{n+r-k}}{(1+(n+r)\alpha)^{n+r}} \\ &= \frac{(n+r)x}{(1+(n+r)\alpha)^{n+r}} \sum_{k=1}^{n+r} \binom{n+r-1}{k-1} (x+k\alpha)^{k-1} \\ &\quad (1-x+(n+r-k)\alpha)^{n+r-k} \\ &= \frac{(n+r)x}{(1+(n+r)\alpha)^{n+r}} S(1, n+r-1, x+\alpha, 1-x) \\ &\quad \text{[by (1.12)]} \end{aligned}$$

Using (1.17), we get

$$\begin{aligned} &= \frac{(n+r)x}{(1+(n+r)\alpha)^{n+r}} \int_0^\infty e^{-t} (1+(n+r)\alpha+t\alpha)^{n+r} dt. \\ &= \frac{(n+r)x}{(1+(n+r)\alpha)^{n+r}} \int_0^\infty e^{-t} \left(1 + \frac{t\alpha}{(1+(n+r)\alpha)} \right)^{n+r-1} dt (1+(n+r)\alpha)^{n+r-1} \\ &\leq \frac{(n+r)x}{\alpha} \int_0^\infty e^{-\left(\frac{\alpha}{1} + r+n\right)u} \cdot e^{(n+r-1)u} du, \\ &= \frac{(n+r)x}{\alpha} \int_0^\infty e^{-\left(\frac{1}{\alpha} + 1\right)u} du, \end{aligned}$$

and hence

$$\sum_{k=0}^{n+r} k p_{n^r;k}(x;\alpha) + \frac{(n+r)x}{(1+\alpha)},$$

which completes the proof of lemma (2.1).

Proof of Lemma 2.2: We have

$$\begin{aligned}
 & \sum_{k=0}^{n+r} k(k-1) p_{n+r,k}(x; \alpha) \\
 &= \frac{(n+r)(n+r-1)x}{(1+(n+r)\alpha)^{n+r}} \sum_{k=0}^{n+r} \binom{n+r-2}{k-2} (x+k\alpha)^{k-1} (1-x+(n+r-k)\alpha)^{n+r-k}, \\
 &= \frac{(n+r)(n+r-1)x}{(1+(n+r)\alpha)^{n+r}} \sum_{v=0}^{n+r-2} \binom{n+r-2}{v} (x+v\alpha+2\alpha)^{v+1} (1-x+(n+r-v-2)\alpha)^{n+r-v-2} \\
 &= \frac{(n+r)(n+r-1)}{(1+(n+r)\alpha)^{n+r}} S(2, n+r-2, x+2\alpha, 1-x), \text{ (by (1.12))}
 \end{aligned}$$

Using (1.18), we get

$$\begin{aligned}
 &= \frac{(n+r)(n+r-1)x}{(1+(n+r)\alpha)^{n+r}} \left[\int_0^\infty e^{-t} dt \int_0^\infty e^{-s} ds \{ (x+2\alpha)(1+(n+r)\alpha \right. \\
 & \quad \left. + t\alpha + s\alpha)^{n+r-2} + (n+r-2)\alpha^2(1+(n+r)\alpha + t\alpha + s\alpha)^{n+r-3} \} \right]
 \end{aligned}$$

$$(2.1) = I_1 + I_2 \text{ (say).}$$

First we evaluate I_1 ,

$$\begin{aligned}
 I_1 &= \frac{(n+r)(n+r-1)}{(1+(n+r)\alpha)^2} x(x+2\alpha) \int_0^\infty e^{-t} dt \int_0^\infty e^{-s} \\
 & \quad \left(1 + \frac{(t\alpha + s\alpha)}{1+(n+r)\alpha} \right)^{n+r-2} ds, \\
 &\leq \frac{(n+r)(n+r-1)}{(1+(n+r)\alpha)^2} x(x+2\alpha) \int_0^\infty e^{-t} dt \int_0^\infty e^s (n+r-2)e
 \end{aligned}$$

$$\begin{aligned}
 & \left(\frac{t\alpha + s\alpha}{1 + (n+r)\alpha} \right) ds \\
 = & \frac{(n+r)(n+r-1)}{(1+(n+r)\alpha)^2} x(x+2\alpha) \int_0^\infty e^{-t'} \left(\frac{1+(n+r)\alpha}{1+2\alpha} \right) ds' \\
 & \int_0^\infty e^{-s'} \left(\frac{1+(n+r)\alpha}{1+2\alpha} \right) ds', \\
 = & \frac{(n+r)(n+r-1)}{(1+2\alpha)^2} x(x+2\alpha) \int_0^\infty e^{-t'} dt \int_0^\infty e^{-s'} ds',
 \end{aligned}$$

and therefore

$$(2.2) \quad I_1 \leq \frac{(n+r)(n+r-1)}{(1+2\alpha)^2} x(x+2\alpha).$$

Now we calculate I_2 ,

$$\begin{aligned}
 I_2 &= \frac{(n+r)(n+r-1)(n+r-2)x\alpha^2}{(1+(n+r)\alpha)^{n+r}} \int_0^\infty e^{-t} dt \cdot \int_0^\infty se^{-s}(1+(n+r) \\
 & \quad \alpha + t\alpha + s\alpha)^{n+r-3} ds, \\
 &\leq \frac{(n+r)(n+r-1)(n+r-2)}{(1+(n+r)\alpha)^2} x\alpha^2 \int_0^\infty e^{-t} dt \cdot \\
 & \quad \int_0^\infty se^{-s} e^{(n+r-3)\left(\frac{t\alpha + s\alpha}{1+(n+r)\alpha}\right)} ds \\
 &= \frac{(n+r)(n+r-1)(n+r-2)}{(1+(n+r)\alpha)^3} x\alpha^2 \int_0^\infty e^{-t} \left(\frac{1+3\alpha}{1+(n+r)\alpha} \right) dt \cdot \\
 & \quad \int_0^\infty se^{-s} \left(\frac{1+3\alpha}{1+(n+r)\alpha} \right) ds,
 \end{aligned}$$

$$= \frac{(n+r)(n+r-1)(n+r-2)}{(1+3\alpha)^3} x \alpha^2 \int_0^\infty e^{-t'} dt' \int_0^\infty s' e^{-s'} ds',$$

and hence

$$(2.3) \quad I_2 \leq \frac{(n+r)(n+r-1)(n+r-2)}{(1+3\alpha)^3} x \alpha^2$$

and therefore (2.1), (2.2) and (2.3) gives

$$\sum_{k=0}^{(n+r)} k(k-1) p_{nr,k}(x;\alpha) \leq (n+r)(n+r-1)x \left(\frac{x+2\alpha}{(1+2\alpha)^2} \right) + \frac{(n+r-2)\alpha^2}{(1+3\alpha)^2}$$

which completes the proof of lemma (2.2).

Proof of Lemma (2.3): We have

$$\begin{aligned} & (n+r+1) \sum_{k=0}^{(n+r)} \left(\int_{k/(n+r+1)}^{(k+1)/(n+r+1)} (t-x)^2 dt \right) p_{nr,k}(x;\alpha) \\ &= \sum_{k=0}^{(n+r)} \left(x^2 - \frac{2kx+x}{n+r+1} + \frac{k^2+k}{(n+r+1)^2} + \frac{1}{3(n+r+1)^2} \right) p_{nr,k}(x;\alpha) \\ &\leq x^2 - \frac{1}{(n+r+1)} - \left(\frac{2(n+r)x^2}{1+\alpha} + x \right) + \\ &+ \frac{1}{(n+r+1)^2} \left[(n+r)(n+r-1)x \left\{ \frac{x+2\alpha}{(1+2\alpha)^2} + \frac{(n+r-2)\alpha^2}{(1+3\alpha)^2} \right\} \right. \\ &+ \left. \frac{2(n+r)x}{1+\alpha} \right] + \frac{1}{3(n+r+1)^2}, \text{ (by Lemma 2.1 and 2.2)} \\ &\leq \frac{1}{(n+r)(1+\alpha)(1+2\alpha)^2(1+3\alpha)^3} [x(1-x) + \alpha \{x(1-x)(2(n+r) \\ &\quad + 9) + x\}] \end{aligned}$$

$$\begin{aligned}
 & + \alpha^2 \{x(1-x) (17(n+r) + 23) + 9x\} + \\
 & + \alpha^3 \{x(1-x) (57(n+r)-13) + 7(n+r) x^2 + x(5(n+r)^2 + 35)\} \\
 & + \alpha^4 \{x(1-x) (96(n+r) - 144) + 86(n+r) x^2 + x(65-12(n+r))\} \\
 & + \alpha^5 \{x(1-x) (54(n+r) - 216) + 162(n+r) x^2 + x(4(n+r)^2 - 12 \\
 & \qquad \qquad \qquad (n+r) + 46)\} \\
 & + \alpha^3 \{-108 x (1-x) + 108(n+r) x^2\} + \frac{1}{3(n+r)^2} \\
 & \leq \frac{x(1-x)}{(n+r)}, \text{ for } \alpha = \alpha_{nr} = o\left(\frac{1}{n+r}\right) \text{ and large } (n+r).
 \end{aligned}$$

Which completes the proof of the lemma 2.3.

Proof of Lemma (2.4):

Let Φ be the generating function of the polynomial

$$T = \sum_{k=0}^{(n+r)} (k - (n+r)x) p_{nr,k}(x; \alpha)$$

which may be defined as

$$\begin{aligned}
 \Phi & = \Phi_{nr}(u, s) = \sum_{s=0}^{\infty} \frac{1}{s!} T_{nr,r}(x) u^s, \\
 & = \sum_{k=0}^{(n+r)} p_{nr,k}(x; \alpha) \sum_{s=0}^{\infty} \frac{1}{s!} (k - (n+r)x)^s u^s, \\
 \text{tet} \quad & = \sum_{k=0}^{(n+r)} e^{u(k(n+r)x)} \binom{n+r}{k} \cdot \frac{x(x+k\alpha)^{k-1} (1-x(n+r-k)\alpha)^{n+r-k}}{(1+(n+r)\alpha)^{n+r}} \\
 & = e^{-(n+r)xu} (1-x + xe^u)^{n+r}, \text{ for } \alpha = \alpha_{nr} = o\left(\frac{1}{n+r}\right),
 \end{aligned}$$

and therefore

$$(2.4) \quad \Phi = [e^{-xu} (1-x + xe^u)]^{(n+r)}$$

To prove our result we will first show that for $|u| \leq 3/2$ the inequality

(2.5) $\Phi \leq \exp [(n+r)x(1-x)u^2]$ holds.

For, (2.4) can be written as

$$\Phi = [x e^{u(1-x)} + (1-x) e^{ux}]^{n+r},$$

but since

$$\begin{aligned} x e^{u(1-x)} + (1-x) e^{-ux} &= \sum_{v=0}^{\infty} \frac{u^v}{v!} [x(1-x) + (1-x)(-x)^v], \\ &= 1 + \sum_{v=2}^{\infty} \frac{u^v}{v!} [x(1-x) + (1-x)(-x)^v], \\ &\leq 1 + x(1-x) \sum_{v=2}^{\infty} \frac{|u|^v}{v!}, \\ &\leq 1 + x(1-x) \frac{u^2}{2} \left(1 + \frac{|u|}{3} + \frac{|u|^2}{3^2} + \dots \right) \\ &\leq 1 + x(1-x) u^2, \text{ for } |u| \leq 3/2 \\ &\leq e^{x(1-x)u^2}, \text{ as } e^k > k+1, \end{aligned}$$

and hence

$$\begin{aligned} \Phi &\leq [e^{x(1-x)u^2}]^{n+r} \\ &= e [(n+r)x(1-x)u^2]. \end{aligned}$$

Therefore if

$$(2.6) \quad \Psi = \Psi_{nr}(u, x) = \sum_{k=0}^{(n+r)} e^{ujk-(n+r)x^k} P_{nr,k}(xiz)$$

then we obtain for $0 \leq u \leq 3/2$,

$$\Psi \leq \varnothing_{nr}(u, x) + \varnothing_{nr}(-u, x),$$

and, therefore, for $\alpha = \alpha_{nr} = o\left(\frac{1}{n+r}\right)$, we have

$$(2.7) \quad \Psi \leq 2 e^{(n+r)x(1-x)u^2}$$

Now to get our required result we note that for $c \geq 0$ and $u \geq 0$,

$$\begin{aligned} & \sum_{k=0}^{(n+r+1)} \frac{1}{\exp [u |k - (n+r) x|]} \leq c \Psi' \left(\int_{k/(n+r+1)}^{(k+1)/(n+r+1)} dt \right) p_{nr;k}(x; \alpha) \leq \\ & \leq \frac{1}{\Psi c} (n+r+1) \sum_{k=0}^{(n+r)} \left(\int_{k/(n+r+1)}^{(k+1)/(n+r+1)} dt \right) e^{u|k - (n+r)x|} p_{nr;k}(x; \alpha) \\ & \leq \frac{1}{c} . \end{aligned}$$

Now if we put $c = \frac{1}{2} z^2$, we obtain

$$\sum_{k=0}^{(n+r+1)} \frac{1}{\exp [u |k - (n+r) x|]} > \frac{1}{2} e z^2 \Psi' \left(\int_{k/(n+r+1)}^{(k+1)/(n+r+1)} dt \right) p_{nr;k}(x; \alpha) \leq 2 e^{-z^2},$$

or $(n+r+1) \left| k - \left(\sum_{n+r} \right) x \right| \leq z^2 u^{-1} + (n+r) x (1-x) u$

$$\left(\int_{k/(n+r+1)}^{(k+1)/(n+r+1)} dt \right) p_{nr;k}(x; \alpha) \leq 2 e^{-z^2}.$$

Since for the given range of t , $\left| \frac{k}{n+r} - x \right| \sim |t-x|$,

we have

$$\begin{aligned} & \sum_{k=0}^{(n+r+1)} \frac{1}{|t-x| \leq z^2 u^{-1} (n+r)^{-1} + x(1-x)u} \left(\int_{k/(n+r+1)}^{(k+1)/(n+r+1)} dt \right) \\ (2.8) \quad & p_{nr;k}(x; \alpha) \leq 2 e^{-z^2}. \end{aligned}$$

Since $0 \leq z \leq \frac{3}{2} [(n+r) x (1-x)]^{1/2}$ can be written as

$$0 \leq z [(n+r) x (1-x)]^{-1/2} \leq 3/2,$$

but (2.8) holds for $0 \leq u \leq 3/2$, and therefore for $u = z ((n+r) (1-x))^{1/2} x$

$$(n+r+1) |t-x| \geq z \left(\frac{x(1-x)}{n+r} \right)^{1/2} + z \left(\frac{x(1-x)}{n+r} \right)^{1/2}$$

$$\begin{aligned} & \left(\binom{(k+1)/(n+r+1)}{k/(n+r+1)} \int dt \right) P_{nr^k}(x; \alpha) \leq 2 e^{-z^2}, \\ (n+r+1) \sum_{|t-x|} & \geq 2z \left(\frac{z(1-x)}{n+r} \right)^{1/2} \left(\binom{(k+1)/(n+r+1)}{k/(n+r+1)} \int dt \right) P_{nr^k}(x; \alpha) \\ & \leq 2 e^{-z^2}. \end{aligned}$$

Which completes the proof of Lemma (2.4).

3. PROOF OF THE THEOREMS.

Proof of the Theorem (1.3):. We have

$$\begin{aligned} & |A_{nr}^\alpha(f, x; b) - f(x)| \leq \\ & \leq (n+r+1) \sum_{k=0}^{(n+r)} \left(\binom{(k+1)/(n+r+1)}{k/(n+r+1)} \int |f(b_{nr}t - f(x)| dt) \right) P_{nr^k} \left(\frac{x}{b_{nr}}; \alpha \right) \end{aligned}$$

Let $\epsilon > 0$, be arbitrary and choose $\delta > 0$, so small that

$$|f(x) - f(x_1)| < \epsilon \text{ for } |x - x_1| < \delta, \text{ we have}$$

$$\begin{aligned} & |A_{nr}^\alpha(f, x; b) - f(x)| \leq \\ & \leq (n+r+1) \sum_{|b_{nr}t - x| < \delta} \left(\binom{(k+1)/(n+r+1)}{k/(n+r+1)} \int |f(b_{nr}t - f(x)| dt) \right) P_{nr^k} \left(\frac{x}{b_{nr}}; \alpha \right) \\ & + (n+r+1) \sum_{|b_{nr}t - x| \geq \delta} \left(\binom{(k+1)/(n+r+1)}{k/(n+r+1)} \int |f(b_{nr}t - f(x)| dt) \right) P_{nr^k} \left(\left(\frac{x}{b_{nr}}, \alpha \right) \right) \end{aligned}$$

$$(3.1) = I_1 + I_2 \quad (\text{say})$$

Now

$$I_1 = (n+r+1) \sum_{|b_{nr}t - x| < \delta} \left(\binom{(k+1)/(n+r+1)}{k/(n+r+1)} \int |f(b_{nr}t) - f(x)| dt \right) P_{nr^k}$$

$$\left(\frac{x}{b_{nr}} ; \alpha \right)$$

$$< \varepsilon (n+r+1) \sum_{k=0}^{(n+r)} \left(\int_{k/(n+r+1)}^{(k+1)/(n+r+1)} dt \right) P_{nr;k} \left(\frac{x}{b_{nr}} ; \alpha \right),$$

(3.2) = ε .

Now to evaluate the value of I_2 , we put $v = x/b_{nr}$ and we get

$$I_2 = (n+r+1) \sum_{|t-v| \geq \delta/b_{nr}} \left(\int_{k/(n+r+1)}^{(k+1)/(n+r+1)} |f(v) - f(x)| dt \right) P_{nr;k}(v; \alpha)$$

$$\leq 2M (n+r+1) \sum_{|t-v| \geq \delta/b_{nr}} \left(\int_{k/(n+r+1)}^{(k+1)/(n+r+1)} dt \right) P_{nr;k}(v; \alpha)$$

$$\leq 2M \left(\frac{\delta}{b_{nr}} \right)^{-2} (n+r+1) \sum_{k=0}^{(n+r)} \left(\int_{k/(n+r+1)}^{(k+1)/(n+r+1)} (t-v)^2 dt \right) P_{nr;k}(v; \alpha)$$

$$\leq 2M \left(\frac{\delta}{b_{nr}} \right)^{-2} \left[\frac{v(1-v)}{n+r} \right] \quad [\text{by lemma (2.3)}]$$

$$\leq 2M \left(\frac{\delta}{b_{nr}} \right)^{-2} \frac{x/b_{nr}}{(n+r)},$$

(3.3) $\leq \varepsilon$, for large $(n+r)$, since $b_{nr} = o(n+r)$,

and hence (3.1), (3.2) and (3.3) gives

$$|A_{nr}^{\alpha}(f, x; b) - f(x)| \leq \varepsilon + \varepsilon = 2\varepsilon,$$

which completes the proof of theorem (1.3).

Proof of the Theorem (1.4):

Proceeding in a similar manner as in the proof of the theorem (1.3), we obtain (3.1) and taking $M(b_{nr})$ in place of M , we have

$$|A_{nr}^{\alpha}(f, x; b) - f(x)| \leq (n+r+1) \left(\sum_{|b_{nr}t-x| < \delta} \right) + (n+r+1) \left(\sum_{|b_{nr}t-x| \geq \delta} \right)$$

$$\leq \varepsilon + 2M (b_{nr}) (n+r+1) \sum_{|t-v| \geq \delta/b_{nr}} \binom{(k+1)/(n+r+1)}{k/(n+r+1)} dt \Big) P_{nr;k}(vx;\alpha)$$

The second term can easily be estimated by means of the lemma (2.4), if

$$z = \delta (n+r) (2b_{nr})^{-1} [(n+r)v(1-v)]^{-1/2},$$

the condition $0 \leq z \leq 3/2 [(n+r)x(1-x)]^{1/2}$ is satisfied if we assume, for instance, that $\delta < 2x$ and that $(n+r)$ is sufficiently large

Hence by $M(b_{nr}) e^{\beta_{nr}/b^{\beta_{nr}}} \rightarrow 0$, we have

$$\begin{aligned} |A_{nr}^{\alpha}(f, x; b) - f(x)| &\leq \varepsilon + 2M (b_{nr}) e^{-z^2}, \\ &= \varepsilon + 2M (b_{nr}) \exp \{ -\delta^2(n+r) [4 b_{nr} x(1-x) b^{-1}_{nr}]^{-1} \}, \\ &\leq \varepsilon + \varepsilon = 2\varepsilon, \text{ for all large } (n+r), \end{aligned}$$

Which completes the proof of theorem (1.4).

REFERENCES

- [1] Bernstein, S.: Démonstration du Théorème de Wierstrass fondé sur le calcul des probabilités, Commun. Soc. Math. Kharkow (2) 13 (1912-13) (1-2).
- [2] Chlodovsky, I.: Sur le développement des fonctions définies dans un interval infini en séries de polynômes de M.S. Bernstein. Compositio Maths 4 (1937), 380-393.
- [3] Jenson, J.L.W.V.: Sur Une identité d'Abel et sur d'autres formules analogues. Acta Maths. 26 (1902), 307-318.
- [4] Kantovici, L.A.: Sur certain développements suivant les polynômes de la forme de S-Bernstein I, II. C.R. Acad. Sci URSS (1930), 563-568, 595-500.
- [5] Shurer, F.: Linear positive operations in approximation Math. Inst. Univ. Tech. Delf. Report 1962.